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(1)REDRE (BN : T, % (=2 IR RTAR LSRR )
FER215EE FRR225E FR235EE FR245EE TR 255 E
e A 1,430,193 (3.6)[1,539,254  (7.6)|1,608,284  (4.5)[1,702,765  (5.9)[1,785,544  (4.9)
W M |1,394,834  (4.5)[1,506,771  (8.0)[1,569,505  (4.2)|1,670,290  (6.4)|1,743,424  (4.4)
7 5l 35,359 (A22.2)] 32,483 (A8.1)| 38,779 (19.4) 32,475 (A16.3)| 42,120  (29.7)
(2) mA DK (HAZ: 1, %)
REREF FRL25FE T4 EBE (a—b)
M B REZE a | B | BEE | REZE b | B | BEHE
1 R £ FH 329,146,967 18.4 7.4| 306,424,434 18.0 34.5| 22,722,533
2 fEAB R O ECRE 82,500 0.0 A 16.1 98,300 0.0 11.5 A 15,800
3 JE X 4| 400,566,869 22.4 5.4| 380,045,336 22.3] A 1.8] 20,521,533
4 L EE e R AF 4| 486,027,105 27.2 4.9 463,470,648 27.2 4.9 22,556,457
5 B X 4&| 257,795,390 14.5 0.5| 256,540,236 15.1 12.5 1,255,154
6 M E I A 73,091 0.0 A4.0 76,137 0.0] A 48.2 A 3,046
(- A 4| 279,375,000 15.7 8.6] 257,202,000 15.1] A 11.6] 22,173,000
8 el 4| 32,474,748 1.8] A 16.3] 38,778,929 2.3 19.4] A 6,304,181
9 7 Iz A 2,100 0.0 A 98.4 128,814 0.0 150.1] A 126,714
&) & 1,785,543,770[  100.0 4.9]1,702,764,834|  100.0 59| 82,778,936
() W DIRR (B2 1, %)
REREE TR 25FE TR 24ERE .
H B REEE a | HAULE | BIEE | RELE b | #Ek | BEE Hh(a—b)
1 # ¥ | 44,768,747 2.6 0.5| 44,555,432 2.7 A 12.9 213,315
2 R B & fF #|1,664,177,011 95.4 5.3]1,580,405,402 94.6 7.2| 83,771,609
3 Mulk SCHE HEEE| 34,405,309 2.0 3.6] 33,201,566 2.0 0.5 1,203,743
4 B & B T & 73,091 0.0 A 99.4] 12,053,546 0.7| 8,103.5| A 11,980,455
5 X & 0 0.0] A 100.0 74,140 0.0] A 99.3 A\ 74,140
=) & 1,743,424,158  100.0 4.4]1,670,290,086|  100.0 6.4] 73,134,072
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X . . FRE|FRAEE| TRV EE|TFR18EE
WoEE | WAEE | s : ~ ~ ~
FE X5 TR 26FE| TH23EE|TR20%E
214 239,761,200] 236,167,100 98.50 51 E 27,200  21,500] 22,300
90tEpE|  249,481,030] 239,705,826 96.08 2 P 27,2000  21,500] 22,300
o3EfE|  227,426,900] 224,749,400 98.82 9?;;%% 34,300
Gt 32,300| 33,400
oatEpEl  313,753,309] 306,424,434 97.66 %Yﬁgg) 40,800
o5tERE|  330,289,200] 326,679,165 98.91 T%ﬁ%;f' 45,100 35,700 600
HAE )
G 54,400] 43,000
55 B 58,700 46,400
55,800
56 B 68,000 53,700
57 B 81,500  64,500] 66,900
(B)F15HIREEH 47 (BT N)
FE . ) . ) )
i | Emo1EE | EricoEE | ER23EE | TH24EE | TH25EE
7]
6525 L1 -7 515k 2,762 2,756 2,683 2,730 2,931
751501 I 3,146 3,149 3,176 3,924 3,270
G PINE PN e 6 6 6 6 6
(FF8) FETT HU B R 32 31 28 31 37
= 5,908 5,905 5,859 5,954 6,201
(ENE(EXE)ETEH 3H (BN A)
=3 o BEXE1 | EXE2 | ENE1 | ENE2 | ENES | ENEL | EfNES it
01 R R 103 154 165 161 132 179 124 1,018
658 1758 15 21 8 21 17 16 14 112
758 UL - 88 133 157 140 115 163 110] 906
92 BRI 3 5 5 7 9 3 4 29
N 106 159 170 168 134 182 128] 1,047
(B)BENE(NEFH) HY—ERXZHREHN 3H (HEAZ:A)
=3 o BEXE1 | EXE2 | ENE1 | ENE2 | ENES | ENE4 | ENES it
0 R 54 116 124 100 75 72 2 563
02 B R R 1 6 2 8 1 3 1 22
w K 55 122 126 108 76 75 23 585
(9) Mg ZE R (N EFLH) Y—ERZHREH 3H (B N)
X S BEXE1 | BEXE2 | ENE1 | ENE2 | ENES | ENEL | ENES Al
01 R R 2 1 12 17 16 10 of 60
02 B R R 0 0 0 0 0 0 1 1
w K 2 1 12 17 16 10 3 61




(10) FEEE N B —ERXRZIREHN 3H (B A)
X o) N2 ABULIEES | 82 NMRBIES | M BREEERIEY &t
BT PR R 103 85 53 241
52 7 Bk R bR 0 1 1 2
mo 103 86 54 243
(11) RIRFEHF DIRR (BAL7: . )
X V) w o+ B @) % %
B oE N #E Y — v 2 R 520,376,254 9,198
ZI T A T SO ERE 124,718,785 728
; i o N &Y — v R & 771,367,461 2,825
t]\\ BoE N #fm ok HOE e OAN B 1,407,549 64
2B = i # F £ & B # 3,782,999 36
& E N # Y — v &GS R 61,143,806 4,660
5'\ n#E T Y — v R 69,865,596 2,933
? Hh 5 %5 5 R T B — B R AR A 518,652 22
Eﬁﬁ%%%?@. e AR N # 599,184 25
t[ o T OB OE o & & B 2,095,879 20
z | #E T B — v %G 8,742,880 2,075
# & X A F 4 kt 1,607,184 22,322
HoOo®moOoN % Y - v 2 & 28,787,982 2,611
o O T — v R & 34,388 36
mEEREAENEYTY — B XK 1,421,212 40
FoE N T & N # Y — v 2 #H 67,683,500 1,961
BEANTTHE TE T Y — B XK 23,700 5
at 1,664,177,011 49,561
(12) KERFRRIE DK (BAz: . A)
X 7 W% E (M) X R & H (N
FIREAHREEONHS 65,792 1
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